a) Read Part 1 and then do the crossword puzzle.
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lived in (3). The sun glowed on the (1) sea. It was

autumn and very . It went through her like (2) of
.She had a she couldn’t solve. Her parents
were very . The idea that her sister could be

in trouble suddenly made her (6). The lights were
inviting but she was too (5) to feel this. She stood there
in the () and felt (4) and . She opened the door
with a big

b) Put the letters in the circles in the right order and find
out where almost everyone was that evening.

¢) Read to the end of Part 2. Who's Heather? What do you
think her problem is? Here are some ideas:

has had an accident - got bad marks at school - stole
something - got in a fight - her boyfriend has left her
took some drugs - has become very sick
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